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published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 
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(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet /response sheet. Objections shall not be 
considered, in case, if responses given in the answer sheet /response sheet and submitted 
suggestions are differed. For the purpose, the candidate shall attach a copy of his 
answersheet/ Response sheet along with his application(s). 

(6) Objection for each question shall be made on separate Suggestion sheet. Objection for more 
than one question in single Suggestion sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વબેસાઈટ પર Ԑિસիધ થયેલ િનયત વાધંા-સચૂન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.

(3) ઉમેદવાર ેપોતાને પરીԟામાં મળેલ ԐՇપિુչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વબેસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેત ેસંદભӪમાં

રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 

(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અને િવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવલે જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ

કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં  આ હેત ુમાટે, ઉમેદવાર ેપોતાની અરӾ(ઓ) સાથ ેપોતાની જવાબવહીની 

એક નકલનુ ંિબડાણ કરવાનું રહેશે. 

(6) એક ԐՇ માટે એક જ વાંધા-સચૂન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે

હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. Lke[uLkk rðfÕÃkku{ktÚke ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. økwshkík{kt WLkk¤k{kt íkkÃk{kLkLkku økk¤ku ËrhÞk rfLkkhkLkk «Ëuþku{kt ykuAku yLku ytËhLkk ¼køkku{kt ðÄw hnu Au.

2. {u {rnLkk{kt økwshkíkLkk W¥kh ¼køk{kt Lke[k{kt Lke[wt Ëçkký yLku Mkkihk»xÙLkk Ërûký rfLkkhu Ÿ[k{kt Ÿ[w Ëçkký
nkuÞ Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) çktLku rðÄkLkku ¾kuxkt Au.

002. økwshkíkLkk fÞk ykrËðkMkeykuLku ðLk rð¼køk îkhk ðktMk{ktÚke [esðMíkwyku çkLkkððk {kxu ðktMk Ãkqhku Ãkkzðk{kt ykðu Au ?

(A) fkuxðkr¤Þk (B) zwtøkhe ¼e÷

(C) çkkð[k (D) Ëqçk¤k

003. ¼khíkLkk fÞk hkßÞ{kt yLkwMkqr[ík òríkLke ðMíke LkkUÄkÞu÷ LkÚke ?

(A) rMkr¬{ (B) yYýk[÷ «Ëuþ

(C) økkuðk (D) Lkkøkk÷uLz

004. (f) íkÚkk (¾) Lkk rðfÕÃkku òuzeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

 (f) (¾)

I. rðËuþe økkÞku {kxuLkwt ÃkþwMktðÄoLk Vk{o 1. Äk{hkuË

II. Mkqhíke ¼UMkku {kxuLkwt ¼UMk MktðÄoLk Vk{o 2. çkezs

III. òVhkçkkËe ¼UMkku {kxuLkwt ¼UMk MktðÄoLk Vk{o 3. ykýtË

IV. Ãkkzk - MkktZ {kxuLkwt MktðÄoLk Vk{o 4. økktÄeLkøkh
(A) I - 3, II - 1, III - 4, IV - 2 (B) I - 3, II - 1, III - 2, IV - 4
(C) I - 1, II - 3, III - 2, IV - 4 (D) I - 2, II - 1, III - 3, IV - 4

005. ¼khíkLkk fÞk hkßÞ{kt ÚkkuheÞ{Lkku MkkiÚke ðÄw sÚÚkku ykðu÷ku Au ?

(A) íkkr{÷Lkkzw (B) fuhk÷k

(C) hksMÚkkLk (D) yktÄú«Ëuþ

006. ¼khíkLkku MkkiÚke {kuxku Úk{o÷ Ãkkðh Ã÷kLx Lke[uLkk Ãkife fÞku Au ?

(A) {wtÿk Úk{o÷ Ãkkðh Ã÷kLx (B) íkk÷[h MkwÃkh Úk{o÷ Ãkkðh MxuþLk

(C) ®ðæÞk[÷ Úk{o÷ Ãkkðh MxuþLk (D) rhnkLË Úk{o÷ Ãkkðh MxuþLk

007. Äe MkuLxÙ÷ EÂLMxxâwx ykuV £uþðkuxh yufðkfÕ[h (CIFA) õÞkt ykðu÷ Au ?

(A) ¼wðLkuïh (B) f÷f¥kk

(C) {wtçkE (D) fku[eLk

008. LkkuÚko EMxLko hu÷ðuLkwt ðzwt {Úkf (Head Quarters) õÞkt ykðu÷wt Au ?

(A) økkiníke (B) økkuh¾Ãkwh

(C) f÷f¥kk (D) yÕnkçkkË

009. ¼khík yLku ríkçkuxLku òuzíkku {wÏÞ {køko fu su fk÷e{ÃkkUøk yLku ÕnkMkk Lku òuzu Au íku Lke[uLkk Ãkife fÞk{ktÚke ÃkMkkh ÚkkÞ Au ?

(A) su÷uÃk ÷k (Jelep La) (B) ÍkuS÷k (Zogila)

(C) þeÃkfe ÷k (Shipki La) (D) Úkkøkk ÷k (Thaga La)
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010. ¼khík{kt ÃkkuMx÷ ELzuûk Lktçkh (PIN) þYykík fÞk ð»ko{kt ÚkE níke ?

(A) E. Mk. 1975 (B) E. Mk. 1980

(C) E. Mk. 1981 (D) E. Mk. 1972

011. ¼khíkLke Ãkrù{ çkksw Lke[uLkk Ãkife fÞk çktËhku ykðu÷ Au ?

1. {k{koøkkuðk      2. {Uøk÷kuh      3. fku[e      4. su.yuLk.Ãke.xe.

(A) 1, 2 yLku 4 (B) 1, 2 yLku 3

(C) 1, 2, 3 yLku 4 (D) 2, 3 yLku 4

012. ¼khíkLkk fÞk hkßÞ{kt yLkwMkqr[ík sLkòríkLke ðMíke MkkiÚke ðÄw Au ?

(A) {æÞ«Ëuþ (B) ykurhMMkk

(C) {nkhk»xÙ (D) hksMÚkkLk

013. Lke[uLkk MÚk¤ku Ãkife fÞk MÚk¤ku rðï ðkhMkkLkk MÚk¤ku íkhefu ÞwLkeMkuV îkhk ònuh ÚkÞu÷k Au ?

1. ystxkLke økwVkyku      2. AºkÃkrík rþðkS x{eoLkMk      3. fkuýkfo MkqÞo{trËh      4. ÷k÷ rfÕ÷ku, rËÕne

(A) 1, 2 yLku 3 (B) 1, 3 yLku 4

(C) 2, 3 yLku 4 (D) 1, 2, 3 yLku 4

014. Þkr{Lke f]»ý{qŠík fÞk þkMºkeÞ Lk]íÞ MkkÚku Mktf¤kÞu÷k Au ?

(A) fÚkf (B) ¼hík Lkkxâ{

(C) {rýÃkwhe (D) fÚkf÷e

015. Lke[uLkk Ãkife fÞk ðkã MkkÚku Þw. fu. rþðh{ý Mkt÷øLk Au ?

(A) ðkÞkur÷Lk (B) Yÿðeýk

(C) {]Ëtøk{ (D) {uLzkur÷Lk

016. Mktøkeík f÷krLkÄe yuðkuzo Lke[uLkk Ãkife fÞk f÷kfkhLku {¤u÷ Au ?

(A) yu. fLÞkfw{khe (B) yu.fu.Mke. LkxhksLk

(C) MkwÄk h½wLkkÚkLk (D) WÃkhLkk çkÄks

017. ®MkÄw ¾eý MktMf]ríkLkk MÚk¤ku yLku hkßÞLku òuzeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

 MÚk¤ku hkßÞku

I. Mkwhfkuxzk 1. Ãktòçk

II. hkuÃkh 2. hksMÚkkLk

III. hk¾eøkZ yLku çkLkðk÷e 3. økwshkík

IV. fk÷eçktøkLk 4. nrhÞkýk

(A) I - 1, II - 2, III - 3, IV - 4 (B) I - 3, II - 1, III - 2, IV - 4

(C) I - 3, II - 1, III - 4, IV - 2 (D) I - 1, II - 3, III - 4, IV - 2
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018. Lke[uLkk Ãkife fÞk rðÄkLk/rðÄkLkku Mkk[kt Au ?

1. f÷{fkhe r[ºkf÷kLkku WËT¼ð yktÄú«Ëuþ{ktÚke ÚkÞu÷ Au.

2. VkË (Phad) r[ºkf÷kLkku WËT¼ð hksMÚkkLk{ktÚke ÚkÞu÷ Au.

3. ðkuh÷e r[ºkf÷kLkku WËT¼ð rçknkh{ktÚke ÚkÞu÷ Au.

(A) rðÄkLk (1) yLku (2) Mkk[kt Au. (B) rðÄkLk (1) yLku (3) Mkk[kt Au.

(C) rðÄkLk (1), (2) yLku (3) Mkk[kt Au. (D) rðÄkLk (2) yLku (3) Mkk[kt Au.

019. økwshkík{kt íkktøk÷eÞk (Tangalia) ðMºk fE fku{Lke çknuLkku Ãknuhu Au ?

(A) ykrnh (B) hçkkhe

(C) fwt¼kh (D) ¼hðkz

020. ykMkku {kMkLke ÃkqLk{Lkk rËðMku {kýufXkhe ÃkqLk{Lkku {u¤ku õÞkt ¼hkÞ Au ?

(A) zkfkuh (B) þk{¤kS

(C) îkhfk (D) ò{Lkøkh

021. økwshkíke Mkki«Úk{ htøkeLk rVÕ{ Lke[uLkk Ãkife fE níke ?

(A) Lkh®Mkn {nuíkk (B) ftfw

(C) MkkuLkçkkELke [wtËze (D) ÷e÷wze Ähíke

022. “ykøktíkwf” yLku “ðktMkLkku ytfwh” f]ríkyku Lke[uLkk Ãkife fÞk MkkrníÞfkhLke Au ?

(A) ð»kko yzk÷ò (B) ÄeYçkuLk Ãkxu÷

(C) h½wðeh [kiÄhe (D) ðeLkuþ ytíkkýe

023. Lke[u Ëþkoðu÷ MktMÚkkyku Ãkife fE MktMÚkkLke MÚkkÃkLkk Mkki Ãknu÷kt ÚkE níke ?

(A) økwshkík MkkrníÞ Mk¼k

(B) økwshkíke MkkrníÞ Ãkrh»kË

(C) økwshkík ðLkkoõÞw÷h MkkuMkkÞxe (økwshkík rðãkMk¼k)

(D) økwshkík MkkrníÞ yfkË{e

024. økwshkík{kt ELzku÷kursf÷ rhMk[o EÂLMxxâqx õÞkt ykðu÷ Au ?

(A) y{ËkðkË (B) Ãkkxý

(C) ðzkuËhk (D) Ëuð¼qr{ îkhfk

025. [kuÚke çkkiØ Mk¼kLkwt ykÞkusLk fÞk MÚk¤u fhðk{kt ykðu÷ níkwt ?

(A) fkÂ~{h (B) Ãkkx÷eÃkwºk

(C) ðiþk÷e (D) MkÃíkÃkýeo

026. ÿrðz fw¤Lke ¼k»kk{kt .......... MkkiÚke «k[eLk ¼k»kk Au.

(A) íku÷wøkw (B) íkr{÷

(C) fLLkz (D) {÷Þk÷{
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027. fÞk økðLkoh sLkh÷Lkk Mk{Þ{kt ºkeòu {iMkwh rðøkún ÚkÞku níkku ?

(A) Mkh ßnkuLk Mkkuh (B) ðu÷uM÷e

(C) fkuLkoðkur÷Mk (D) ðkuhLk nu®MxøMk

028. y{ËkðkË{kt hkÞÃkwh Ëhðkò çknkh ðkEMkhkuÞ r{Lxku WÃkh çkkuBçk Lkk¾ðkLkku çkLkkð fÞk ð»ko{kt çkLÞku níkku ?

(A) E. Mk. 1902 (B) E. Mk. 1905

(C) E. Mk. 1907 (D) E. Mk. 1909

029. Lke[uLkk Ãkife rðfÕÃkku{ktÚke Mkk[kt rðfÕÃk ÃkMktË fhku.

1. økkuðk, Ëeð yLku Ë{ý{ktÚke ÃkkuxwoøkeÍ þkMkLkLkku ytík íkk. 19{e rzMkuBçkh, 1961 Lkk hkus ykðu÷ níkku.

2. yk Mk{Þu ÃkkuxwoøkeÍ økðLkoh sLkh÷ íkhefu rz-MkÕðk níkk.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) çktLku rðÄkLkku ¾kuxkt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

030. ÷kuzo fÍoLkLkk Mk{Þ{kt Mkh Úkku{Mk hu÷uLkk «{w¾ ÃkËu òLÞwykhe 1902{kt yuf fr{þLkLke h[Lkk fhðk{kt ykðu÷, su
Lke[uLkk Ãkife fkuLku MktçktrÄík níkwt ?

(A) LkkýkfeÞ MkwÄkhk (B) þiûkrýf MkwÄkhk

(C) ðneðxíktºkLke MkwÄkhýk (D) LÞkÞíktºkLke MkwÄkhýk

031. E.Mk. 1508{kt rËÕneLkk Mkw÷íkkLk rMkftËh ÷kuËeyu ÃkkuíkkLkk yuf ËqíkLku ¼ux MkkuøkkËku MkkÚku økwshkík {kufÕÞku níkku. ¼khíkLkk
RríknkMk{kt yuf «kËurþf Mk¥kkLku ¼køÞu ykðwt {kLk {éÞwt nþu ! yk {kLk {u¤ðLkkh þkMkf fkuý níkku ?

(A) Mkw÷íkkLk {wÍ^Vh þkn (B) yn{Ë þkn

(C) {n{qË þkn çkuøkzku (D) WÃkh Ãkife yuf Ãký Lknª

032. Lke[uLkk fÞk økðLkoh sLkh÷Lkk Mk{Þ{kt çkhkfÃkwhLkku níÞkfktz yLku ¼híkÃkwhLkk yiríknkrMkf rfÕ÷k ÃkhLke SíkLkk çkLkkðku
çkLÞk níkk ?

(A) ÷kuzo r{Lxku (B) ÷kuzo nu®MxøMk

(C) ÷kuzo ÷ufLk (D) ÷kuzo yu{nMxo

033. hk»xÙeÞ {nkMk¼kLkk ºkeò yrÄðuþLk{kt «{w¾ íkhefu fkuLku [qtxðk{kt ykÔÞk níkk ?

(A) çkËYËeLk íkiÞçkS (B) ÔÞku{uþ[Lÿ çkuLkhS

(C) ËkËk¼kE LkðhkuS (D) MkwhuLÿLkkÚk çkuLkhS

034. Lke[u Ëþkoðu÷ òuzfkt Ãkife fE òuzfw/òuzfkt Mkk[wt/Mkk[kt Au, íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. þf MktðíkLkku «kht¼ – E. Mk. 78

2. rþðkSLkku sL{ – E. Mk. 1628

3. {íkkrÄfkh {kxu MkkWÚk çkhku fr{xe – E. Mk. 1919

4. ¼khík yLku [eLk ðå[u Ãkt[þe÷ Mk{sqíke – E. Mk. 1954

(A) 1, 2, 3 (B) 2, 3, 4

(C) 1, 3, 4 (D) 1, 2, 3 yLku 4
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035. ÷tzLk{kt ÞkuòÞu÷ ºkýuÞ økku¤{uS Ãkrh»kË{kt Lke[uLkk Ãkife fkuý nksh hnu÷ níkk ?

(A) ÷kuf{kLÞ rík÷f (B) sðknh÷k÷ LkunY

(C) {nkí{k økktÄe (D) zkp. çke. ykh. yktçkuzfh

036. nhesLk Mkuðf Mk{ksLke økktÄeS îkhk fÞk ð»ko{kt MÚkkÃkLkk fhðk{kt ykðe níke ?

(A) 1934 (B) 1931

(C) 1933 (D) 1932

037. ¼khík Mkhfkh îkhk MkktMkË ykËþo økúk{ ÞkusLkk õÞkhÚke þY fhðk{kt ykðe níke ?

(A) yur«÷, 2014 (B) swLk, 2014

(C) ykuõxkuçkh, 2014 (D) yur«÷, 2015

038. yÕÃk çkuhkusøkkhe íÞkhu ÚkkÞ Au ßÞkhu ÷kufku -

(A) fk{ fhðk EåAwf LkÚke nkuíkk. (B) MkwMík ZtøkÚke fk{ fhíkk hnu Au.

(C) ÃkkuíkkLke ûk{íkkÚke ykuAwt fk{ fhíkk hnu Au. (D) íku{Lkk fk{ {kxu ð¤íkh / [qfðýwt fhðk{kt ykðíkwt LkÚke.

039. MkkuE÷ nuÕÚk fkzo Mfe{Lke þYykík fE Ãkt[ð»keoÞ ÞkusLkk ytíkøkoík ÚkE níke ?

(A) ËMk{e (B) Lkð{e

(C) yøkeÞkh{e (D) çkkh{e

040. ELxu÷uõåÞwy÷ «kuÃkxeo yÃku÷ux çkkuzo (IPAB) Lkwt {Úkf fÞk MÚk¤u ykðu÷ Au ?

(A) {wtçkE (B) [uLLkkE

(C) rËÕne (D) f÷f¥kk

041. hkusøkkh - çkuhkusøkkhLkku Mkðuo fE MktMÚkk îkhk nkÚk Ähðk{kt ykðu Au ?

(A) LkuþLk÷ MkuBÃk÷ Mkðuo ykuøkuoLkkEÍuþLk (B) r{LkeMxÙe ykuV ÷uçkh yuLz yuBÃk÷kuE{uLx

(C) rzÃkkxo{uLx ykuV ÃkMkkuoLku÷ yuLz xÙuLkªøk (D) WÃkh Ãkife yuf Ãký Lknª

042. yMktøkXeík ûkuºkLkk økheçke hu¾k nuX¤Lkk fwxwtçkku {kxu ¼khík Mkhfkh îkhk hk»xÙeÞ MðkMÚÞ ðe{k ÞkusLkk þY fhðk{kt
ykðu÷ Au, íku fÞk ð»koÚke fkÞkoÂLðík ÚkÞu÷ níke ?

(A) E.Mk. 2005 (B) E.Mk. 2006

(C) E.Mk. 2008 (D) E.Mk. 2010

043. Lke[u Ëþkoðu÷ Ãkt[ð»keoÞ ÞkusLkkyku Ãkife fE Ãkt[ð»keoÞ ÞkusLkk{kt SzeÃke Lkk ytËkSík ÷ûÞktf fhíkk ðÄw ÷ûÞktf rMkØ
ÚkÞu÷ Au ?

(A) çkeS (B) ºkeS

(C) [kuÚke (D) ykX{e

044. ÃkÂç÷f VkÞLkkLMkeÞ÷ {uLkus{uLx MkeMx{Lke ykuLk÷kELk þYykík fÞk ð»ko{kt ÚkE níke ?

(A) E.Mk. 2004 (B) E.Mk. 2006

(C) E.Mk. 2008 (D) E.Mk. 2010
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045. Äe ðÕzo nuÃkeLkuMk rhÃkkuxo, 2019{kt fw÷ 156 Ëuþku Ãkife ¼khíkLkku Mk{kðuþ fÞk ¢{ Ãkh ÚkÞu÷ Au ?

(A) 133 (B) 140

(C) 85 (D) 112

046. sÚÚkk çktÄ ¼kð Mkqr[ (Wholesale Price Index) fE MktMÚkk/rð¼køk îkhk ònuh fhðk{kt ykðu Au ?

(A) ykurVMk ykuV Äe EfkuLkku{ef yuzðkEÍh, {eLkeMxÙe ykuV fku{Mko yuLz ELzMxÙe

(B) rzÃkkxo{uLx ykuV EfkuLkku{ef yVuMko

(C) rzÃkkxo{uLx ykuV huðLÞw

(D) {eLkeMxÙe ykuV MxuxeMxeõMk yuLz «kuøkúk{ EBÃk÷e{uLxuþLk

047. LkuþLk÷ zuhe Ã÷kLk, «Úk{ íkçk¬k (Phase I)Lke þYykík fÞk ð»ko{kt fhðk{kt ykðe níke ?

(A) E.Mk. 2014 (B) E.Mk. 2015

(C) E.Mk. 2016 (D) E.Mk. 2012

048. ¼khík Mkhfkh îkhk ð»ko 2016{kt þY fhðk{kt ykðu÷ “Äe Mxkxo yÃk EÂLzÞk”Lkwt M÷kuøkLk þwt Au ?

(A) Mxkxo yÃk EÂLzÞk (B) MxuLz yÃk EÂLzÞk

(C) Mxkxo yÃk EÂLzÞk yuLz MxuLz yÃk EÂLzÞk (D) fkuE M÷kuøkLk hk¾ðk{kt ykðu÷ LkÚke

049. ¼khíkLkk MktrðÄkLkLkk yk{w¾{kt ËþkoÔÞk {wsçk yk MktrðÄkLk yÃkLkkðe, íkuLku yrÄrLkÞr{ík fhe fkuLku yŠÃkík fhðk{kt
ykðu÷ Au ?

(A) Mkðo ÷kufkuLku (B) Mkðo LkkøkrhfkuLku

(C) y{Lku ÃkkuíkkLku (D) WÃkh Ãkife yuf Ãký Lknª

050. ¼khíkLkk MktrðÄkLk{kt ¼køk-3 {q¤¼qík nfku ytíkøkoík “hkßÞ”{kt Lke[uLkk Ãkife þkLkku Mk{kðuþ ÚkkÞ Au ?

(A) ¼khíkLke Mkhfkh yLku MktMkË

(B) Ëhuf hkßÞLke Mkhfkh yLku íkuLkwt rðÄkLk {tz¤

(C) ¼khíkLkk hkßÞûkuºkkuLke ytËhLkk yÚkðk ¼khík MkhfkhLkk rLkÞtºký nuX¤Lkk ík{k{ MÚkkrLkf fu çkeò Mk¥kk {tz¤ku

(D) WÃkh (A), (B) yLku (C) {kt Ëþkoðu÷k ík{k{

051. ¼khíkLke Lkkrøkhf Lk nkuÞ íkuðe fkuE Ãký ÔÞÂõík hkßÞ nuX¤Lkku fkuE ÷k¼ËkÞf yÚkðk rðïkMkLkku nkuÆku Ähkðíke nkuÞ íku
Ëhr{ÞkLk íku{LkkÚke fkuLke Mkt{rík rðLkk fkuE rðËuþe hkßÞ ÃkkMkuÚke fkuE r¾íkkçk Mðefkhe þfkíkku LkÚke ?

(A) hk»xÙÃkrík (B) ðzk«ÄkLk

(C) hkßÞÃkk÷ (D) MktçktrÄík hkßÞLkk {wÏÞ{tºke

052. hkßÞLkeríkLkk {køkoËþof rMkØktíkkuLkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. fkuE LÞkÞk÷ÞÚke hkßÞLkeríkLkk {køkoËþof rMkØktíkkuLke òuøkðkEykuLkku y{÷ fhkðe þfkþu Lknª.

2. Aíkkt yk rMkØktíkku ËuþLkk hkßÞ ðneðx{kt {q¤¼qík Au yLku fkÞËk fhíke ð¾íku yk rMkØktíkku ÷køkw Ãkkzðk íku hkßÞLke
Vhs hnuþu.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) çktLku rðÄkLkku ¾kuxkt Au.
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053. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. furLÿÞ {tºkeykuLkk Ãkøkkh yLku ¼ÚÚkkt hk»xÙÃkrík ð¾íkku ð¾ík Lk¬e fhu Au.

2. furLÿÞ {tºkeyku hk»xÙÃkríkLke {hS nkuÞ íÞkt MkwÄe nkuÆku Ähkðe þfu Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku ¾kuxkt Au. (D) çktLku rðÄkLkku Mkk[kt Au.

054. hkßÞMk¼k{kt Lke[uLkk hkßÞku Ãkife fÞk hkßÞLke çkuXfkuLke Vk¤ðýe MkkiÚke ðÄw Au ?

(A) økwshkík (B) hksMÚkkLk

(C) fuh¤ (D) ykurhMMkk

055. Wå[ LÞkÞk÷ÞLkk fkuE LÞkÞkÄeþ, fkuLku MktçkkuÄeLku ÃkkuíkkLke Mkneðk¤k ÷¾kýÚke ÃkkuíkkLkk nkuËkLkwt hkSLkk{wt ykÃke þfu Au ?

(A) {wÏÞ LÞkÞ{qŠík, Wå[ LÞkÞk÷Þ (B) {wÏÞ LÞkÞ{qŠík, Wå[ík{ LÞkÞk÷Þ

(C) MktçktrÄík hkßÞLkk hkßÞÃkk÷ (D) hk»xÙÃkrík

056. Ëhuf MíkhLke Ãkt[kÞíkkuLkk yæÞûkkuLkk nkuËkLke fw÷ MktÏÞkLkk fux÷kÚke ykuAk Lk nkuÞ íkux÷k nkuÆkyku, {rn÷kyku {kxu yLkk{ík
hk¾ðkLkk nkuÞ Au ?

(A) çku ík]íkeÞktþÚke (B) yuf ík]íkeÞktþÚke

(C) Ãk[eMk xfkÚke (D) ºkeMk xfkÚke

057. ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuËLke òuøkðkE nuX¤ hkßÞÃkk÷, hkßÞLkk yuzðkufux sLkh÷Lke rLk{ýqtf fhu Au ?

(A) yLkwåAuË - 164 (B) yLkwåAuË - 165

(C) yLkwåAuË - 166 (D) yLkwåAuË - 167

058. fÞk ð»koLkk yrÄrLkÞ{Úke furLÿÞ Mkíkfoíkk ykÞkuøkLku ðiÄkrLkf Ëhßòu {¤u÷ Au ?

(A) E. Mk. 1998 (B) E. Mk. 2000

(C) E. Mk. 2003 (D) E. Mk. 2001

059. ÷kufÃkk÷ yLku ÷kufkÞwõík yrÄrLkÞ{, 2013 {wsçk h[ðk{kt ykðu÷ ¾kMk LÞkÞk÷Þu fuMk Ëk¾÷ ÚkÞkÚke fux÷k Mk{Þ{kt
Mkk{kLÞ heíku íkuLkku rLkfk÷ fhðkLkku nkuÞ Au ?

(A) A {rnLkk{kt (B) yuf ð»ko{kt

(C) çku ð»ko{kt (D) fkuE {wËík rLkÞík fhkÞu÷ LkÚke

060. 14{k Lkkýk Ãkt[Lke ¼÷k{ýLkku Mk{Þøkk¤ku fÞku Au ?

(A) 2013-14 Úke 2017-18 (B) 2012-13 Úke 2016-17

(C) 2015-16 Úke 2019-20 (D) 2016-17 Úke 2020-21

061. çku MktÏÞkLkku ÷½w¥k{ MkkÄkhý yðÞð 450 Au íkÚkk íkuLkku økwYík{ MkkÄkhý yðÞð 10 Au. òu íku Ãkife yuf MktÏÞk 50 nkuÞ
íkku çkeS MktÏÞk fE nþu ?

(A) 50 (B) 10

(C) 90 (D) 450
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062. YrÃkÞk 234/-Lku f, ¾ yLku øk {kt 
1 1 1, ,
2 3 4
   Lkk økwýku¥kh{kt ðnU[ðkLkk níkk, Ãkhtíkw Mkhík[qfÚke íku 2 : 3 : 4 Lkk økwýku¥kh{kt

ðnU[ðk{kt ykÔÞk. yk «fkhu fkuLku MkkiÚke ðÄkhu ÷k¼ ÚkÞku nþu yLku fux÷k YrÃkÞkLkku ÷k¼ ÚkÞku nþu ?

(A) ¾, YrÃkÞk 3 (B) f, YrÃkÞk 56

(C) øk, YrÃkÞk 50 (D) øk, YrÃkÞk 60

063. yuf ÔÞÂõík ÃkkuíkkLke ykðfLkk 
133 %
3

 ¾[o fhu Au yLku íku Ëh {rnLku YrÃkÞk 1200/- Lke çk[ík fhu Au. íkku íkuLkku ¾[o

(Ëh {rnLku) fux÷k YrÃkÞk Úkþu ?

(A) 1200 YrÃkÞk (B) 1800 YrÃkÞk

(C) 2400 YrÃkÞk (D) 600 YrÃkÞk

064. yuf LkøkhLke ðMkíke 40,000 níke. yuf ð»ko{kt ÃkwY»kkuLke ðMíke{kt 10% íkÚkk {rn÷kykuLke ðMíke{kt 8% Lkku ðÄkhku ÚkÞu÷.
Ãkhtíkw fw÷ ðMíke{kt 9% Lkku ðÄkhku ÚkÞu÷ íkku íku Lkøkh{kt ÃkwY»kkuLke MktÏÞk fux÷e nþu ?

(A) 25,000 (B) 20,000
(C) 30,000 (D) 25,500

065. yuf ÔÞÂõík 500 {exh Ãknku¤e Mkzf 75 Mkuftz{kt ÃkMkkh fhu Au. íkku íkuLke ÍzÃk fux÷k rf.{e./f÷kfLke nþu ?

(A) 25 (B) 20
(C) 30 (D) 24

066. Lke[uLke MktÏÞk ©uýe{kt fE MktÏÞk çktÄ çkuMkíke LkÚke ?

7, 32, 79, 142, 223, 322

(A) 79 (B) 32
(C) 142 (D) 322

067. xuçk÷ yLku ¾whþeLke ®f{íkLkku økwýku¥kh 9 : 4 Au. xuçk÷Lke ®f{ík ¾whþeLke ®f{ík fhíkkt YrÃkÞk 1250 ðÄkhu Au. ¾whþeLke
®f{ík fux÷e nþu ?

(A) 600 (B) 800

(C) 1200 (D) 1000

068. Lke[u Ëþkoðu÷ Mk{efhý ¾kuxwt Au. yk Mk{efhýLku Mkk[wt fhðk {kxu fÞk çku r[LnkuLku ykÃkMk{kt yhMk ÃkhMk çkË÷ðkLkk ÚkkÞ ?

24 2 + 35 – 8 10 = 57

(A)  yLku  (B)  yLku –

(C) – yLku + (D)  yLku –

069. òu 6241 = 9 yLku 3732 = 20 nkuÞ íkku 4523 = ?

(A) 27 (B) 21
(C) 23 (D) 18

070. òu 15 ðMíkwykuLke {q¤ ®f{ík 10 ðMíkwykuLke ðu[ký ®f{ík sux÷e nkuÞ íkku LkVku fux÷k xfk ÚkkÞ ?

(A) 40% (B) 45%
(C) 60% (D) 50%
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071. yuf Ãkheûkk{kt økrýíkLkk rð»kÞ{kt 35% rðãkÚkeoyku LkkÃkkMk ÚkÞk Au yLku rð¿kkLkLkk rð»kÞ{kt 25% rðãkÚkeoyku LkkÃkkMk
ÚkÞk Au. òu çktLku rð»kÞ{kt 10% rðãkÚkeoyku LkkÃkkMk ÚkÞk nkuÞ íkku fux÷k xfk rðãkÚkeoyku ÃkkMk ÚkÞk nþu ?

(A) 40% (B) 45%

(C) 50% (D) 55%

072. STU, WXY, ABC, .....?.....

(A) EFG (B) EDF

(C) DEF (D) FDE

073. hkunq, fík÷k yLku rn÷Mkk fÞk «kýeykuLke «òríkyku Au ?

(A) Ëuzfkt (B) {økh

(C) {kA÷e (D) fk[çkk

074. ¼khík{kt MÃkez ÃkkuMxLke þYykík fÞk ð»koÚke fhðk{kt ykðe níke ?

(A) E. Mk. 1985 (B) E. Mk. 1986

(C) E. Mk. 1990 (D) E. Mk. 1995

075. ¼khík{kt MkkiÚke ðÄw {uLøkúkuðLkk ð]ûkku fÞkt ykðu÷k Au ?

(A) økwshkík (B) fuhk÷k

(C) yktËk{kLk yLku rLkfkuçkkh xkÃkwyku (D) Ãkrù{ çktøkk¤

076. LkuþLk÷ çkkÞkuzkEðMkeoxe ykuÚkkuhexeLkwt ðzwt {Úkf õÞkt ykðu÷ Au ?

(A) {wtçkE (B) [uLLkkE

(C) ËnuhkËqLk (D) LÞq rËÕne

077. ¼k¼k ykuxku{ef rhMk[o MkuLxh îkhk Lke[uLkk Ãkife fÞk MÚk¤u ¼qftÃkLku MktçktrÄík «ð]r¥kykuLkwt rLkÞtºký (Monitoring)
fhðk{kt ykðu Au ?

(A) økkiheçkeËkLkkih (GAURIBIDANAUR) (B) rËÕne

(C) xÙkuBçku (D) WÃkhLkk ºkýuÞ MÚk¤u

078. fÞk ð»ko{kt {kMko ykuçkeoxh MÃkuMk¢k^x (Mars Orbiter Space Craft) Lku {tøk¤ økúnLke ¼ú{ýfûkk{kt MkV¤íkkÃkqðof
{kuf÷eLku ¼khíku rðï{kt [kuÚkk hk»xÙ íkhefu yLku «Úk{ s «ÞíLku {kuf÷eLku Ãknu÷k hk»xÙ íkhefu rMkrØ nktMk÷ fhu÷ níke ?

(A) E. Mk. 2012 (B) E. Mk. 2010

(C) E. Mk. 2014 (D) E. Mk. 2016

079. E÷uõxÙkuLMkLke þkuÄ Lke[uLkk Ãkife fÞk ði¿kkrLkfu fhe níke ?

(A) su. su. ÚkkuBÃkMkLk (B) søkËeþ[Lÿ çkkuÍ

(C) yuzðeLk nçk÷ (D) Mke. ðe. hk{Lk

080. ð»ko 2018 Lkku çkkuh÷kuøk yuðkuzo fkuLku {¤u÷ Au ?

(A) fu. ðe. «¼w (B) ykE. ðe. Mkwççkkhkð

(C) ðuEVUøk Íktøk (D) WÃkh Ãkife yuf Ãký Lknª
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081. Äe ÷k~fuh yuðkuzTÍo (The Lasker Awards) fÞk ûkuºk{kt ykÃkðk{kt ykðu Au ?

(A) íkçkeçke rð¿kkLk (B) f]r»k rð¿kkLk

(C) Ãkh{kýw rð¿kkLk (D) Sð rð¿kkLk

082. økrýík þkMºkLkk ûkuºk{kt Wíf]ü ði¿kkrLkf fkÞo {kxu ykÃkðk{kt ykðíkku yuçk÷ «kEÍ (Abel Prize) yuðkuzo fÞk Ëuþ îkhk
ykÃkðk{kt ykðu Au ?

(A) MðezLk (B) LkuÄh÷uLz

(C) Lkkuðuo (D) LÞwÍe÷uLz

083. Excel {kt hku Lke MktÏÞk .......... Au.
(A) 65,530 (B) 65,536
(C) 65,535 (D) 65,525

084. Lke[uLkk rðÄkLkku íkÃkkMkku yLku ykÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

1. SIM Lkwt Ãkqhwt Lkk{ - “Subscriber Identity Module” Au.

2. PDF Lkwt Ãkqhwt Lkk{ - “Portable Document Format” Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku ¾kuxkt Au. (D) çktLku rðÄkLkku Mkk[kt Au.

085. furLÿÞ çksux 2019-20 {kt fÞk ð»ko MkwÄe{kt Ëhuf ½hLku ÃkkEÃk÷kELk {khVík Ãkkýe WÃk÷çÄ fhkððkLkwt ÷ûÞktf hk¾ðk{kt
ykðu÷ Au ?
(A) 2022 (B) 2023
(C) 2024 (D) 2025

086. furLÿÞ çksux 2019-20 {kt {Lkhuøkk ÞkusLkk {kxu fux÷k fhkuz YrÃkÞkLke òuøkðkE fhðk{kt ykðu÷ Au ?
(A) 60,000 (B) 58,000
(C) 52,000 (D) 50,000

087. ykŠÚkf Mk{eûkk 2018-19 yLkwMkkh 2024-25 MkwÄe{kt Ãkkt[ rxÙ÷eÞLk zku÷hLke yÚkoÔÞðMÚkk {kxu fux÷k xfk ðkMíkrðf
SzeÃke rðfkMk ËhLke sYhík Au ?
(A) 7.0 (B) 7.2
(C) 8.0 (D) 7.8

088. «rMkæÄ yr¼Lkuíkk røkheþ fLkkozLku fux÷e ð¾ík hk»xÙeÞ rVÕ{ ÃkwhMfkh {¤u÷ Au ?

(A) A (B) ykX

(C) ËMk (D) çkkh

089. íktçkkfwLkk rLkÞtºký {kxu fÞk hkßÞLkk r[rfíMkk yLku MðkMÚÞ rð¼køkLku ðÕzo nuÕÚk ykuøkuoLkkEÍuþLkLkku ð»ko 2019 Lkku ÃkwhMfkh
{¤u÷ Au ?

(A) {nkhk»xÙ (B) hksMÚkkLk

(C) Íkh¾tz (D) yktÄú«Ëuþ

090. fÞk hkßÞ îkhk {wÏÞ{tºke ð]ØsLk ÃkuLþLk ÞkusLkk þY fhðk{kt ykðu÷ Au ?

(A) W¥kh«Ëuþ (B) {æÞ«Ëuþ

(C) rçknkh (D) íku÷tøkkýk
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091. ð»ko 2018Lke økýíkhe yLkwMkkh Lke[u Ëþkoðu÷ hkßÞku Ãkife fÞk hkßÞ{kt ðk½Lke MktÏÞk MkkiÚke ðÄw Au ?

(A) fýkoxf (B) W¥khk¾tz

(C) ykurhMMkk (D) {æÞ«Ëuþ

092. ð»ko 2019Lkku hu{Lk {iøMkuMku yuðkuzo Lke[uLkk Ãkife fkuLku {¤u÷ Au ?

(A) hðeþ fw{kh (B) MkkuLk{ ðktøk[wf

(C) ¼hík ðxðkLke (D) WÃkhkuõík Ãkife yufÃký Lknª

093. ¢kEMx[[o fku÷ Vkuh yuõþLk / ¢kEMx[[o fku÷ xw yuõþLk{kt Lke[uLkk Ãkife fÞku Ëuþ Mkk{u÷ Au ?

(A) LÞwÍe÷uLz (B) £kLMk

(C) ¼khík (D) WÃkhkuõík ík{k{

094. ¼khíkeÞ MkuLkk îkhk “¾zTøk «nkh” Lkk{Lkk «rþûký yÇÞkMkLkwt ykÞkusLk fÞk hkßÞ{kt fhðk{kt ykðu÷ níkwt ?

(A) nrhÞkýk (B) {nkhk»xÙ

(C) Ãktòçk (D) ykurhMMkk

095. yurþÞkE MLkqfh [uÂBÃkÞLkrþÃk, 2019Lkku ÃkwY»k ðøkoLkku r¾íkkçk fkuýu Síku÷ Au ?

(A) çkkçkh {krMkn (B) Ãktfs yzðkýe

(C) ÚkkLkkðx xehkÃkkuLøkÃkkEçkqLk (D) yM{Ë Efçkk÷

096. ð»ko 2019 {kxu “MkkrníÞ”Lkk Lkkuçku÷ ÃkwhMfkh {kxu fkuLke ÃkMktËøke ÚkÞu÷ Au ?

(A) fkÍwyku EMkeøkwhku (B) çkkuçk ze÷kLk

(C) ykuÕøkk xkufkfÍwof (D) Ãkexh nIzfu

097. Lkerík ykÞkuøk îkhk Mfq÷ rþûkk økwýð¥kk Mkq[fktf, 2019 ònuh fhðk{kt ykðu÷ Au, su{kt 20 {kuxk hkßÞku{kt MkkiÚke AuÕ÷k
MÚkkLk Ãkh fÞk hkßÞLkku Mk{kðuþ ÚkÞu÷ Au ?

(A) sB{w-fk~{eh (B) W¥kh«Ëuþ

(C) Ãktòçk (D) rçknkh

098. furLÿÞ s÷ {tºkk÷Þ îkhk íkkhe¾ 2S ykuõxkuçkh, 2019 Lkk hkus ðkŠ»kf MðåA Mkðuoûký, 2019 Lkku ynuðk÷ ònuh
fhðk{kt ykðu÷ Au, su{kt .......... hkßÞLkk ÃkuÆkÃkÕ÷e rsÕ÷kLku Ëuþ{kt Mk{økúYÃku Mkðo©uc rsÕ÷k íkhefu ònuh fhu÷ Au.

(A) íkr{÷Lkkzw (B) yktÄú«Ëuþ

(C) íku÷tøkkýk (D) fuhk÷k

099. “r÷çkúk” (Libra) þçË Lke[uLkk{ktÚke fkuLku MktçktrÄík Au ?

(A) yuf r¢ÃxkufhLMke

(B) Mkkçkh ¢kE{

(C) £ktMk{kt MkhfkhLke rðYæÄ ÷kufku îkhk Úkíkku rðhkuÄ «ËþoLk

(D) WÃkh Ãkife yufÃký Lknª

100. ziLke fkÞu {kLkðkrÄfkh ÃkwhMfkh {kxu Lke[uLkk{ktÚke fkuLke ÃkMktËøke ÚkÞu÷ Au ?

(A) {kÄwhe rËûkeík (B) Mk÷{kLk¾kLk

(C) r«Þtfk [kuÃkzk (D) fkòu÷
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101. What is the method of CPD assessment?
(A) Rokintansky’s method (B) Hodge Smith method
(C) Muller-Munro-Kerr method (D) Sims’s Triad method

102. In breech presentation which one of the following methods is used to deliver the baby after the
head comes out?
(A) Marshall-Burn’s technique (B) ECV technique
(C) Vaccum assisted technique (D) Surgical technique

103. Which one of the following mechanical factor prevents retraction of uterus in PPH?
(A) Retention of the placenta (B) Full bladder
(C) Accidental haemorrhage (D) Atonic uterus

104. Retained placenta is due to which one of the following conditions?
(A) Placenta previa (B) Placenta percreta
(C) Batelladore’ placenta (D) Trapped placenta

105. Which one among the following is the complication of laproscopy?
(A) Cardiac and respiratory distress (B) Diaphragmatic hernia
(C) Cautery burns (D) Hydrosalpinx

106. Tumor marker Lactic dehydrogenase is used for the diagnosis of
(A) Mucinous cancer (B) Epithelial cancer of ovary
(C) Germ cell tumour (D) CA cervix

107. What is the incubation period of chlamydial infection?
(A) 1-7 days (B) 2-14 days
(C) 6-14 days (D) 4-28 days

108. Bacterial vaginosis discharge gets a fishy odour when it is mixed with which one of the following?
(A) 10% KOH (B) 40% NAOH
(C) BACL (D) HCL

109. On the detection of gestational sac by transvaginal sonography ,fetal pole with pulsations can be
seen from
(A) 25-30 days (B) 37-40 days
(C) 40-45 days (D) 30-35 days

110. On speculum examination, during the 1st trimester of pregnancy softening of the cervix is
known as
(A) Chadwik’s sign (B) Hegar’s sign
(C) Goodell’s sign (D) Palmer’s sign

111. The fetal heart sound can be auscultated between
(A) 2-3 weeks (B) 17-20 weeks
(C) 20-24 weeks (D) 11-14 weeks

112. Which among the following is the commonest placental tumour?
(A) Chorioadenoma (B) Choriocarcinoma
(C) Krukenberg tumour (D) Chorioangioma
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113. In normal pregnancy, the peak level of hCG is
(A) 25-100 IU/ml (B) 150-170IU/ml
(C) 120-160 IU/ml (D) 200-220 IU/ml

114. Recurrent attack of Hydatidiform mole leads to
(A) Choriocarcinoma (B) Carneous mole
(C) Hydramnios (D) Ascites

115. Prolapse of the umbilical cord is more common in
(A) Battledore placenta (B) Circumvallate placenta
(C) Membraneous placenta (D) Placenta accrete

116. An Important factor in repeated breech presentation is
(A) Cornuate uterus (B) Diadelphys uterus
(C) Septate uterus (D) Couvelaire uterus

117. Which vitamin is administered to prevent haemorrhagic disease of newborn?
(A) Vit C (B) Vit K
(C) Vit D (D) Vit A

118. Which hormone promotes myometrial quiescence during pregnancy, but aids myometrial
contraction with onset of parturition?
(A) hCG (B) Oestrogen
(C) CRH (D) LSH

119. At the onset of labour in primigravida, the cervix is ripe, partly effaced or uneffaced and is
dilated to
(A) 1-2 cm (B) 2-6 cm
(C) 2-5cm (D) 11 cm

120. Hydramnios is more common in Hydrops foetalis due to
(A) Rh-incompatibility (B) Rh-iso-immunisation
(C) Rh-D antigen (D) Rh-antigen

121. What is the normal weight of the placenta?
(A) 100 gm (B) 0.5 kg
(C) 1.5 gm (D) 0.25 kg

122. Which one of the following hormones can alter systemic blood pressure as well as regulate blood
flow to feto-placental unit?
(A) Prostaglandins (B) Aldosterone
(C) Corticosterone (D) Thromboxanes

123. Early detection screen test for pre eclampsia is
(A) Swab test (B) Bonney’s test
(C) Roll-over-test (D) Sims-Huhner test

124. Proteinuria means urinary proteins in concentrations greater than
(A) 0.3g/l (B) 1.0g/l
(C) 2.1g/l (D) 0.31 g/l
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125. In suspected case of pre eclampsia blood pressure increases over
(A) 120 mm of Hg systolic 80 mm of Hg diastolic
(B) 140 mm of Hg systolic 90 mm of Hg diastolic
(C) 130 mm of Hg systolic 100 mm of Hg diastolic
(D) 160 mm of Hg systolic 110 mm of Hg diastolic

126. Intermittent contractions of uterus during pregnancy is known as
(A) Braxton Hick’s sign (B) Hegar’s sign
(C) Jacquemier’s sign (D) Osiander’s sign

127. In which presentation the fetal skull measures 13 cm?
(A) Vertex presentation (B) Face presentation
(C) Brow presentation (D) Transverse presentation

128. In which one of the formulas given below, the height of the fundus is measured in cm and
multiplied by 8, this is again divided by 7 which gives the gestational age by weeks?
(A) Dawn’s formula (B) Mc Donald’s rule
(C) Johonson’s formula (D) Naegele’s rule

129. At which week of pregnancy the height of the fundus is at the level of the umbilicus?
(A) 20th week (B) 12th week
(C) 16th week (D) 32nd week

130. During pregnancy,which week is known as the fetal viability period?
(A) 12th week (B) 16th week
(C) 28th week (D) 24th week

131. In which classification of abortion given below, the fetus may be alive or dead ,uterus may
correspond to POG, os is open, membranes may be bulging?
(A) Complete (B) Missed
(C) Threatened (D) Inevitable

132. Collection of blood in the pouch of Douglas leads to the formation of
(A) Haematometra (B) Pelvic Haematocele
(C) Haematocoalpos (D) Haematoma

133. In missed abortion the dead ovum may remain in the uterus, in a few weeks the whole uterain
content is changed into a dark red or brownish shaggy mass to form
(A) Carneous mole (B) Vesicular mole
(C) Ectopic gestation (D) MTP

134. Early diagnosis of tubal ectopic gestation is
(A) Serum hCG (B) Laproscopy
(C) Hysterosalpingography (D) Ultrasound

135. Bleeding from the genital tract after the 28th week of pregnancy and before delivery is known as
(A) Antipartum Hemorrhage (B) DUB
(C) Haematometra (D) Uterine bleeding
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136. Which grade of page’s classification shows uterine tetany and tenderness with no sign of fetal
distress or maternal shock?
(A) Grade 0 (B) Grade 3
(C) Grade 1 (D) Grade 2

137. Complication of Puerperium is
(A) Vulvovaginal haematoma (B) Bleeding
(C) Shock (D) Pruritus

138. The instrument which is used to visualize the cervix and vagina in dorsal positon?
(A) Cuscos’s speculum (B) Uterine sound
(C) Uterine curette (D) Ovum forceps

139. Causative organism for monilial Vaginitis is.
(A) Bacteria (B) Fungus
(C) Candida albicans (D) Virus

140. The complete lack of fusion of the mullerian ducts to form double uterus, double cervix and
double vagina is known as
(A) Bicornuate uterus (B) Bicolis uterus
(C) Septate uterus (D) Diadelphys uterus

141. Complication of vaginoplasty is.
(A) Mullerian duct (B) Spetate vagina
(C) Rectovaginal fistula (D) Narrowing interoitus

142. Obstructed labour occurs in which type of uterus?
(A) Septate Vagina (B) Bicornuate Uterus
(C) Cervical incompetence (D) Spetate Uterus

143. What is the common cause of Contact Bleeding ?
(A) CA Cervix (B) Displacement of uterus
(C) Pruritus (D) Prolapse

144.  In which type of infection the affected part appears thickened with whip like consistency?
(A) TB of genital tract (B) PID
(C) Pediculosis (D) Vulvitis

145. Aspiration of the pouch of Douglas is required for the diagnosis of which one of the following?
(A) Pelvic abscess (B) Bacterial infection
(C) Malignancy (D) Infection

146. Normal length of the cervix is
(A) 10 mm (B) 12 mm
(C) 25 mm (D) 45 mm

147. Complete prolapse of the uterus is known as
(A) Vault prolapse (B) Procidenta
(C) Enterocele (D) Cystocele
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148. Which one of the following operation is designed to correct cystocoele ?
(A) Fother Gill’s operation (B) Anterior colporrhaphy
(C) Perineorraphy (D) Vaginal hysterectomy

149. In which one of the following anomalies, the infentile cervix appears to be conical with pin point
os?
(A) Aplasia (B) Hypoplasia
(C) Atresia (D) Gonadel

150. In congenital anomalies, the transverse vaginal septum is caused by non canalization of
(A) Sinovaginal bulb (B) Mullerian duct
(C) Aplasia (D) Segmental mullerian agenesis

151. What is the complication of Genital prolapse?
(A) Decubitus Ulcer (B) Peritonitis
(C) Fibroid uterus (D) Procidentia

152. Red degeneration is most commonly associated with which one of the following?
(A) Post menopausal period (B) Pregnancy
(C) Necrosis (D) Malignant conditions

153. Retained and forgotten pessary may cause
(A) Vulvitis (B) Vaginitis
(C) Infection (D) STD

154. Prolonged retention of IUD and if left even in menopausal period may cause
(A) Pyometra (B) Haematometra
(C) Spinal cord injury (D) Minor Haemorrhage

155. Pedunculated growth arising from the uterine cavity is called
(A) Uterine prolapse (B) Uterine polyp
(C) Malignant (D) Ovarian tumor

156. In which one of the following congestive dysmenorrhea may be present?
(A) Fibroid polyp (B) Uterine prolapse
(C) Mucous polyp (D) Mensturation

157. In which one of the following conditions, the white discharge has a sangunious foul smelling
odour?
(A) Submucous fibroid (B) Fibroid polyp
(C) Vaginitis (D) Cervicitis

158. Who introduced the concept of Dysplasia?
(A) Rubin (B) Richard
(C) Walters and Regan (D) F. J. Brown

159. Germ cell tumour is known as
(A) Teratoma (B) Beningn tumor
(C) Dysgerminoma (D) Mucinous cyst
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160. Which one among the following is a complication of ovarian tumour?
(A) Torsion (B) Bleeding
(C) Metastasis (D) Dermoid cyst

161. Which one of the following is the result of absorption of the fluid in an incompletely developed
follicle or anovulation?
(A) Non Neoplastic growth of ovary (B) Follicular cyst
(C) Lutein cyst (D) Functional cyst

162. Ovarian Hyperstimulation syndrome is caused mainly by which one of the following hormones?
(A) LH (B) hCG
(C) Prolactin (D) FSH

163. In which one of the following congenital anomalies, accessory sex glands is atrophied and shows
no evidence of functional activitiy?
(A) Hermaphrodite caliper (B) Jenny caliper
(C) Hermaphroditism (D) Transfer caliper

164. Which one of the following cysts include hair follicles, teeth, bone, cartilage etc?
(A) Bartholins cyst (B) Ovarian cyst
(C) Dermoid cyst (D) PCOD

165. Biopsy of intra epithelial carcinoma of the vulva reveals typical prickle cell invading the epidermis
in which of the following conditions?
(A) VIN (B) Bowens Disease
(C) Pagels Disease (D) In situ vulva

166. Cevix which has been badly lacerated during child birth leads to?
(A) Erosion (B) Ectropion
(C) Cervicitis (D) Sub Involuion

167. What is the causative organism of vulvovaginitis in children?
(A) Threadworm (B) Fungus
(C) Pinworm (D) Bacteria

168. Inflamation of the inner lining of the uterus is known as?
(A) Endomyometritis (B) Endometriosis
(C) Endometritis (D) Myometrium

169. Among the following which is the palliative method of treatment employed for the prolapse of
uterus?
(A) Medicinal management (B) Pessary
(C) D and C (D) Surgical management

170. What is the normal respiratory rate of the newborn baby?
(A) 30-60 breath/min (B) 50-80 breath/min
(C) 70-110 breath/min (D) 90-120 breath/min

171. What is the normal pulse rate of the newborn baby?
(A) 80-100 beat/min (B) 100-160 beat/min
(C) 80-120 beat/min (D) 110-140 beat/min
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172. What is the normal blood pressure of the newborn baby?
(A) 45-60/25-40 mm of Hg (B) 55-70/35-50 mm of Hg
(C) 60-90/45-65 mm of Hg (D) 65-50/45-60 mm of Hg

173. What is the normal Bilirubin level in infants?
(A) > 5 mg/dl (B) < 3 mg/dl
(C) < 5 mg/dl (D) > 15 mg/dl

174. What is the normal heart rate of the newborn baby?
(A) 130-170 bpm (B) 120-160 bpm
(C) 140-180 bpm (D) 150-184 bpm

175. Increased intra cranial pressure is diagnosed by which one of the following sign?
(A) Paralysis of upward gaze (B) Rupture of the cranial vein
(C) Small frontanalle (D) Depressed frontanalle

176. What is the blood volume soon after birth?
(A) 80 ml/kg body weight (B) 60 ml/kg body weight
(C) 100 ml/kg body weight (D) 70 ml/kg body weight

177. What is the normal Haemoglobin level in newborn baby?
(A) 20-24 mg% (B) 18-20 mg%
(C) 28-30 mg% (D) 12-15 mg%

178. What is the daily calorie requirement of infants?
(A) 100-110 K cal/kg/day (B) 105-130 K cal/kg/day
(C) 120-130 K cal/kg/day (D) 150-175 K cal/kg/day

179. Premature baby’s skin is red and shiny due to?
(A) Lack of vitamins (B) Lack of subcutaneous fat
(C) Lack of melanine (D) Lack of nutrients

180. What is the normal weight of newborn baby?
(A) 2.5 kg (B) 3.5 kg
(C) 1.5 kg (D) 2 kg

181. The umbilical cord is clamped quickly at the time of labour to prevent hypervolemia or it leads to
(A) Hypotension (B) Hyperbilirubinemia
(C) Infection (D) Collapse

182. Which among the following is the main site of infection of a premature baby?
(A) Respiratory tract (B) Genitourinary tract
(C) Alimentary tract (D) Gastrointestinal tract

183. Daily requirement of Vit A in premature baby?
(A) 3000IU (B) 3500IU
(C) 2500IU (D) None of the above

184. What is the favourable sign of progress in premature baby?
(A) Cry (B) Skin turning yellow
(C) Decreased fetal heart rate (D) Defecation
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185. In vertex presentation, Mecconium staining of liquor amni is an indication of
(A) Medullary depression due to drug (B) Cord compression
(C) Intracranial haemorrhage (D) Low level of Oxygenation

186. What is the normal apgar score in newborn baby?
(A) 0-2 (B) 7-10
(C) 10-12 (D) 0-6

187. Which one of the following is the cause of Fetal Anoxia?
(A) Cord compression (B) Acidosis
(C) Passage of mecconium (D) Vommiting

188. Which one of the following is the cause of respiratory distress syndrome?
(A) Antipartem Haemorrhage (B) Mecconium Aspiration
(C) Hydramnios (D) IUGR

189. What is the level of unconjugated bilirubin in term infant?
(A) > 12 mg/dl (B) >15 mg/dl
(C) < 17 mg/dl (D) < 20 mg/dl

190. Dizygotic twins are called?
(A) Identical twins (B) Quadruplets
(C) Fraternal twins (D) Maternal twins

191. The fertilization of two different ova relased in the same cycle by separate act of coition within
a short period of time is called?
(A) Superfetation (B) Superfecundation
(C) Compressus (D) Vanishing twin

192. The state in which one of the fetuses dies early is called?
(A) Superfetation (B) Fetus papyraceous
(C) Vanishing twin (D) Multipara

193. The average amount of lochial discharge for the 1st 5-6 days?
(A) 350 ml (B) 500 ml
(C) 250 ml (D) 450 ml

194. Which one of the following incisions is opted for Gynaecological operations?
(A) Pfannenstiel incision (B) Laproscopic incision
(C) Lsc incision (D) Pararectal incision

195. In female infertility, the patency of the fallopian tube is determined by which one of the following
tests?
(A) Rubin’s test (B) Bonney’s test
(C) Post coital test (D) Ovulation test

196. Subtotal hysterectomy is the removal of
(A) Entire uterus (B) Only corpus of the uterus
(C) Bilateral salpingo oophractomy (D) Removal of parametrium
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197. What is the remote complications of hysterectomy?
(A) Menopausal syndrome (B) Shock
(C) Pylonephritis (D) Pulmonary abscess

198. What is the indication of vaginal hystrectomy?
(A) Retroversion of the uterus (B) Fibroid uterus
(C) Genital prolapse (D) Retained placenta

199. What is the indication of only cervical dilatation without curettage?
(A) Cervical amputation (B) Dysmenorrhoea
(C) Uterine polyp (D) Amenorrhoea

200. What is the cause of dystocia?
(A) Prolonged labour (B) Easy labour
(C) Spontaneous labour (D) Abnormal labour

201. Structural unit of myometrial cell is myofibril which contains the protein?
(A) Lipoprotein (B) Actin and myosin
(C) Collagen (D) Casein

202. The maximum diameter of the head stretches the vulval outlet without any recession of the head
even after contraction is over- is termed as
(A) Engagement (B) Torsion of the neck
(C) Extension (D) Crowning

203. The amount of lochial discharge for the 1st 5 to 6 days is
(A) 350 ml (B) 500 ml
(C) 250 ml (D) 450 ml

204. Vaginal discharge consists of less number of RBCs but more leucocyte and persists for 5-9 days
is termed as
(A) Lochia Alba (B) Lochia Serosa
(C) Lochia Rubra (D) Lochia nigra

205. Relation of different parts of the fetus to one another is called
(A) Presentation (B) Lie
(C) Attitude (D) Vertex Presentation

206. Which one of the following instrument is used to hear fetal heart sound?
(A) Stethoscope (B) Laproscope
(C) Pinard’s fetoscope (D) Laryngoscope

207. Which one of the following is a risk factor for heart disease during pregnancy?
(A) Hypercholesterolemia (B) Rheumatic Heart disease
(C) Congenital Heart Disease (D) Myocardial Infarction

208. The phrase “For the virgin no marriage, for the married no pregnancy, for the pregnant no
future confinement and for the mother no suckling” is usually used to represent which of the
following disease?
(A) HIV (B) TB
(C) CHD (D) RHD
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209. Which one of the following is a serological diagnostic method for rubella virus?
(A) Flocculation Test
(B) Cephalin-cholestro Flocculation Test

(C) Hemagglutination Inhibiting antibody Test
(D) Complement Test

210.  Which one of the following nerve root is involved in Erb’s paralysis?
(A) 5th and 6th cervical nerve (B) 1st and 3rd cranial nerve

(C) 6th and 7th cervical nerve (D) 4th and 5th

211. Iron deficiency anemia during pregnancy is called
(A) Megaloblastic Anemia (B) Microcytic Hypochromic Anemia
(C) Aplastic Anemia (D) Thalaseimia

212. Macrocytic anemia is due to the deficiency of?
(A) Vitamin C (B) Folic Acid and Vitamin B12
(C) Vitamin D (D) B complex and Calcium

213. What is the daily requirement of iron during pregnancy?

(A) 27 mg/day (B) 13 mg/day
(C) 25 mg/day (D) 30 mg/day

214. What is the indication of glucose tolerance test during pregnancy?
(A) FBS Exceeds 85 mg/100ml (B) FBS Exceeds 95 mg/100ml

(C) FBS Exceeds 100 mg/100ml (D) 120 mg/100ml
215. What is the complication of severe anemia during labour?

(A) Heart Failure (B) Pre-Eclampsia
(C) Sub involution (D) Utrine Inertia

216. What is Pemphigus Neonatorum?
(A) It is an oral thrush (B) It is a serious form of skin infection
(C) Ophthalmia (D) Necrotizing Enterocolitis

217. Which one of the following condition maybe associated with hyperthyroidism?

(A) Nodular Goitre (B) Trophoblastic Disease
(C) Thyrotoxicosis (D) Hyperemesis Gravidarum

218. Thyroid dysfunction during pregnancy leads to?
(A) Rheumatic heart Disease and placental anomalies

(B) Heart Failure and IUGR
(C) Myxoedema and congenital Heart Disease
(D) Euthyroid

219. Which one of the following is the main event during 1st stage of labour?

(A) Effacement of the cervix (B) Descent of the head
(C) Separation of placenta (D) Passenger
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220. During pregnancy, dull abdominal pain over the scar with slight vaginal bleeding leads to
(A) Uterine rupture (B) Classical rupture
(C) Hysterectomy scar (D) Scar rupture

221. In PPH, the 3rd stage of haemorrhage leads to which one of the following?
(A) Shock
(B) Bleeding occurs before the expulsion of placenta
(C) Uterine inversion
(D) Atonic uterus

222. Laceration of the vagina during child birth is due to?
(A) Normal Labour (B) Multiple Pregnancy
(C) Forceps Delivery (D) Ectropion

223. Which one of the following conditions leads to diminished uteroplacental circulation, especially
after rupture of the membrane?
(A) Intrauterine infection (B) Hypoxia
(C) Cord Prolapse (D) Rupture of uterus

224. Which one of the following leads to severe dystocia due to abnormalities of the vulval outlet?
(A) Atresia of the Vulva (B) Oedema of the Vulva
(C) Haematoma of the Vulva (D) Elephantoid growth of the Vulva

225. Acute abdominal pain in early months of pregnancy is due to which one of the following?
(A) Hydatidiform Cyst (B) Torsion of the uterus
(C) Labour Pain (D) Bleeding

226. Which one of the following is the contraindication of ECV?
(A) Placenta Previa (B) PPH
(C) Contracted Pelvis (D) Elongation of the Cervix

227. In breech presentation the fetal heart sound is heard
(A) At the level of Umbilicus (B) Above the level of Umbilicus
(C) Below the level of Umbilicus (D) Between the Umbilicus and Pelvis

228. In breech presentation, during vaginal examination the anus is mistaken with the
(A) Face Presentation (B) Brow Presentation
(C) Vertex Presentation (D) Occipito Posterior Presentation

229. Which one of the following is the complication of breech presentation?
(A) Haemorrhage (B) Nuchal Position of the Arm
(C) Transverse Oblique Lie (D) Foot Link

230. Which one of the following is the cause of obstructed labour?
(A) Anomalies of the Fetus (B) Cord Prolapse
(C) Uterine Inertia (D) Hormone Deficiency

231. Most constant symptom of ectopic gestation is
(A) Vaginal Bleeding (B) Nausea
(C) Abdominal Pain (D) IUCD
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232. What is the conservative treatment of ruptured tubal pregnancy where the tube is completely
damaged?
(A) Hysterectomy (B) Laprotomy
(C) Salpingectomy (D) Medical Management

233. Growth of endometrial tissue outside the uterine cavity is called
(A) Salpingitis (B) Vaginosis
(C) Edometriosis (D) Polyp

234. The most important manifestation of edrometriosis is
(A) Hydatid cyst (B) Ovarian Cyst
(C) Cystic Degeneration (D) Chocolate Cyst

235. During menstruation, when the endometrial tissue is present in sites other than the endometrium
may lead to
(A) Haemorrhage (B) No Bleeding
(C) Spotting (D) Severe Bleeding

236. What is the meaning of Puerperal blues?
(A) Bluish discoloration of the uterus (B) It is a transient state of mental illness
(C) Changes in the hypothalamus (D) Psychological Response to pre natal death

237. Contraindication of breastfeeding is
(A) HIV (B) PID
(C) PCOD (D) Cracked nipple

238. An infection of the genital tract which occurs as a complication of delivery is termed as
(A) Puerperal sepsis (B) Puerperal  pyrexia
(C) Retained placenta (D) Laceration of the vagina

239. Retained and forgotten cotton plug inside the vagina lead to
(A) Inflammation (B) Septic condition
(C) Offensive vaginal discharge (D) White Discharge

240. Which one of the following is Dystocia caused by fetal anomalies?
(A) Macrosomia (B) Cranial bone abnormality
(C) Hydramios (D) Placenta Previa

241. In primary Postpartum haemorrhage the amount of blood lost is
(A) 350 ml (B) 400 ml
(C) 500 ml (D) 550 ml

242. Traumatic postpartum haemorrhage causes profuse bleeding which is more common due to
(A) Cervical laceration (B) Instrumental laceration
(C) Uterine rupture (D) Adherent placenta

243. Anything which interferes with the proper contraction and retraction of the uterus may lead to
(A) Abnormal Placenta (B) Retention of Placenta
(C) Placenta accreta (D) Profuse haemorrhage
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244. Which one among the following is the abnormal position of the placenta?
(A) Placenta previa (B) Abruptio placenta
(C) Vasa praevia (D) Circumvallate placenta

245. In which degree of placenta praevia, the placenta overlaps the internal os when closed but doesn’t
cover it entirely when fully dilated?
(A) 4th degree (B) 1st Degree
(C) 2nd degree (D) 3rd degree

246. Which one of the following method is opted, when the fetal head is in occipito posterior position
and gets arrested in the midcavity, usually at or above the level of ischial spine?
(A) Manual rotation and forceps delivery (B) Lovest Maneuver delivery
(C) Spontaneous Assisted Delivery (D) Normal Delivery

247. In Compound presentation the diagnosis can only be done by
(A) Abdominal Examination (B) Vaginal Examination
(C) USS (D) Bimanual Examination

248. What is the indication of ruptured intestinal pregnancy?
(A) Laprotomy (B) Hysterectomy
(C) Salpingectomy (D) Surgery

249. The nature of uterine contraction have been studied in detail by
(A) Partograph (B) Tocograph
(C) Partogram (D) Graph

250. Which one of the following is the complication of precipitated labour in fetus?
(A) Asphyxia (B) Rupture of the Cord
(C) Aspiration of mecconium (D) Ophthalmia Neonatorm

251. In which of the following bandle’s ring is present?
(A) Precipitated Labour (B) Obstructed Labour
(C) Spontaneous Labour (D) Prolonged Labour

252. Normal resisting tone of the uterus is about
(A) 5.0 mm of Hg (B) 7.5 mm of Hg
(C) 2.5 mm of Hg (D) 2.0 mm of Hg

253. Causative organism of Ophthalmia Neonatorm is
(A) Bacteria (B) Fungi
(C) Virus (D) Parasite

254. Which one of the following is a very grave consequence and is dealt with haemolytic disease of
the new born?
(A) Obstructive Jaundice (B) Septic Type
(C) Rh- Incompatibility (D) Infantile Convulsion

255. A linear pigmented area stretching from the umbilicus to the symphysis pubis is called
(A) Linear Alba (B) Linea Nigra
(C) Linea Rubra (D) Linea Aspera
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256. Which one of the following condition occurs due to genital prolapse during labour?
(A) Uterine anomalies (B) Uterine sepsis
(C) Cervical Dystocia (D) Mucinious Cell Carcinoma

257. Which one of the following condition is due to the effect of carcinoma on pregnancy?
(A) Secondary cervical dystocia (B) Cervical polyp
(C) Ectopy (D) Easily bleeding

258. Which one of the following is an effect of Puerperium, on fibroid with pregnancy?
(A) Red degeneration (B) Abortion
(C) Cervical fibroid (D) Subinvalution

259. Ovarian tumor in pregnancy may cause
(A) Dermoid Cyst (B) Torsion of the pedicle
(C) PCOD (D) Cystadenoma

260. Which one of the following is the effect of epilepsy on pregnancy?
(A) IUGR (B) Influenca
(C) Lucopenia (D) Lupus Nephritis

261. What is the most common type of female pelvis?
(A) Plattypelloid (B) Android
(C) Andropoid (D) Gyanecoid

262. Which one among the following is a developmental defect of the pelvis?
(A) Naegle’s pelvis (B) Rachitic flat pelvis
(C) Osteomalacic pelvis (D) Android pelvis

263. The condition, in which the baby is relatively large with normal pelvis or normal sized with a
contracted pelvis is called
(A) CPD (B) ECV
(C) CHD (D) RHD

264. On abdominal examination one of the common defect with contracted pelvis
(A) Pelvic Tumor (B) Unengaged Head
(C) Previous still birth (D) Fetal Malpresentation

265. Which one of the following fetal anomalies cause obstructed labour?
(A) Conjoined Twins (B) Spina Bifida
(C) Ectopicvesicae (D) Oesophageal Atrisia

266. Which one of the following forms of energy is used for therapeutic purposes because it has no
mass or charge and it travels with the speed of light?
(A) Tumor Marker (B) Immuno Therapy
(C) Electromagnetic Radiation (D) Chemotherapy

267. What is the unit of measurement of radiation?
(A) Centigray (B) Dosimetry
(C) Gray (D) One Gray
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268. Which one of the following is a type of passive immunotherapy?
(A) C. Parvum (B) Cytokines
(C) Interlukins (D) BCG

269. Which hormone therapy is helpful in patients with Turner’s syndrome for the growth and
development of secondary sexual characters?
(A) Oestrogen (B) Anti Oestrogen
(C) Progestrone (D) FSH

270. What is the normal weight of the uterus?
(A) 25 gm (B) 0.5 gm
(C) 60 gm (D) 50 gm

271. What is the normal PH of the vagina?
(A) 5.5 (B) 4.5
(C) 6.6 (D) 7.6

272. What is the normal length of female urethra?
(A) 60 mm (B) 45 mm
(C) 25 mm (D) 35 mm

273. Which bacteria present in Leucorreha converts glycogen into lactic acid?
(A) Doderlien bacilli (B) Tubercular bacilli
(C) Lacto bacilli (D) Staphylococcus

274. In which type of malignancy the vaginal discharge is watery and then it becomes blood stained
and foul smelling?
(A) Endometrial Carcinoma (B) CA Uterus
(C) CA Vagina (D) CA Cervix

275. Which one of the following condition is a result of oestrogen deficiency?
(A) Vaginitis (B) Senile Vaginitis
(C) Vulvitis (D) Vulvovaginitis

276. Which one of the following is a symptom of advanced lesion in CA Cervix?
(A) Cachexia (B) Post coital bleeding
(C) Vomiting (D) Fever

277. What is the causative organism of Mollascum Contagiosum?
(A) Poxvirus (B) Herpes
(C) Human Papilloma Virus (D) HIV

278. One of the most popular surgical method to correct uterine retroversion is?
(A) Hysterectomy (B) Laprotomy
(C) Ventrosuspension (D) Vaginetomy

279. After successful treatment for genital tuberculosis, women are now assisted with reproduction
by which one of the following methods?
(A) In-Vitro fertilization (B) Safe method
(C) Normal pregnancy (D) Artificial method

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AKZ - MASTER ] 16 [Contd.

280. Which of the following tests is performed to confirm infertility in patient’s with retroverted
uterus?
(A) Hysterosalpingography (B) Semen analysis
(C) Sims-Huhner test (D) Ovulation test

281. In which of the following conditions the vagina has a strawberry appearance?
(A) Monilial infection (B) Trichomonas infection
(C) Leucorrhoeal infection (D) Vulval infection

282. The condition in which the uterus is turned inside out is termed as?
(A) Displacement (B) Inversion
(C) Erosion (D) Subinvalution

283. Name the rare virilizing tumor arising from cells in the ovarian hilus
(A) Hilus cell tumor (B) Thecca cell tumor
(C) Granulosa cell tumor (D) Mixed germ cell tumor

284. Which one of the following tumor arises from totipotent cell?
(A) Brenner tumor (B) Granulosa cell tumor
(C) Teratoid tumor (D) Ovarian tumor

285. In which type of tumor, post menopausal bleeding is seen?
(A) Feminizing tumor (B) Thecca cell tumor
(C) Sex cord stromal tumor (D) Germ cell tumor

286. Deficiency in the secretion of surfactant causes
(A) Respiratory distress (B) Cardiac arrest
(C) Mecconium aspiration (D) Airway obstruction

287. The additional amount of energy required by a lactating mother for lactation
(A) 500 Kcal (B) 750 Kcal
(C) 1000 Kcal (D) 250 Kcal

288. Physiological basis of lactation of Galactokinesis means?
(A) Preparation of breast (B) Sustaining lactation
(C) Secretion of milk (D) Ejection of milk

289. According to Kramer, Dermal Icterus zone of the bilirubin level of the chest and abdomen till
umbilicus is
(A) 5 mg/dl (B) 15 mg/dl
(C) 0.5 mg/dl (D) 10 mg/dl

290. Which one of the following is an indication for Colposcopy?
(A) Suspicion of cervical intraepithelial neoplasia
(B) Fibroid uterus
(C) Mucous polyp
(D) Congenital anomalies of the uterus

291. In which of the following condition, the skin, oral and genital mucosa is affected?
(A) Lichen Sclerosus (B) Lichen Planus
(C) Lichen Simplex (D) Purititus vulva
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292. What is Reiter’s disease?
(A) Depigmentation of the skin (B) Ulcerative lesion of the vulva
(C) Lesion affecting labia minora (D) Rare chronic inflammatory disease

293. Which one of the following cyst is formed due to blocking of cervical glands mouth?
(A) Endometrial cyst (B) Mesonephric cyst
(C) Nabothian cyst (D) Cervical cyst

294. Which one of the following is the commonest site of Venous Thromboembolism?
(A) Vessels of the leg (B) Popliteal vein
(C) Cubital vein (D) Jugglar vein

295. The condition in which the squamous epithelium is replaced by columnar epithelium is called?
(A) Erosion (B) Epithelial cancer
(C) Puritus (D) Vulvitis

296. Which among the following is a clinical feature of chronic pelvic pain?
(A) Vomiting (B) Pelvic absss
(C) Congestive Dysmenorrhoea (D) Thyroidism

297. Which one of the following is the natural defence mechanism of female genital tract?
(A) Downward movement of cilia lining endometrial cavity
(B) Leucorrhoea
(C) Stenosis
(D) IUCD

298. Who gave the best contribution to the graphic record of cervical dilatation during labour?
(A) F J Brown’s (B) Shaw’s
(C) Friedman’s (D) Robert Hooke

299. In which condition adherent curdy flakes are seen on the vaginal examination which shows
petechial haemorrhage?
(A) Monilial (B) Erosion of Cervix
(C) Pruritus vulvae (D) C.A Cervix

300. Which is the Causative organism of the condyloma accuminata?
(A) HPV (B) HIV
(C) Fungal (D) Candida albicans
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